CET 12'" Level (2nd Shift) Answer Key Dated : 04.02.2023

1.

10.

1.

‘SN GiEdr' =af-ga 9-

(A) Tret fgRoT TReoT & (B) §Yg TReoT @

(C) fRsg anfa @ (D) amy TReor [D]
31 Ft o SEE & gt @ I @& 2011 F
T H1 A 8?

(A) 8 @l A (B) 2441 sH

(C) 27 gispH (D) 12 at & [A]
& aopa glan @-

(A) demm & (B) g@r o |

(C) FmixRa & (D) wrdi & [c]

RS FH I &l fFES Aq d wwarfea gom ot
?

(A) . . 7
(C) oft. Tw. qTERvIER
101 =T 99%d 8-

(B) . w. fAsn
(D) T=.&t. Gienferm D]

(A) 1050501 (B) 1020201

(C) 1030301 (D) 1040401 [c]
1857 & WdAd WU & HleT AgRI 6 Wgraal &
fore fra wsa A Afass g s ?

(A) Feht (B) SR

(C) sitergR (D) IR [A]

fafaf@a § @ 319 91 ue) Glerka 95 i oF F)
&?

(A) g &g (B) g3

(C) fhmfther (D) &R ~[8]
afe g g A 1 aa 16 H aur FIE 12
H 21 30 TUR T AR A

(A) . (B) 4 .

(C) 2+ (D) 1 . [B]
THT F et & @1 FAawras & ford watn vy
ST &1 UE foha Ul & gRT A hedT 872

(A) &= (B) Sitetienvor

(C) 3rgwrg= (D) fArgnwor [A]
AFHATA fFa Yen-ahen @ g=FFYT 22
LELESEL) (B) Feeh

(C) ms (D) g (A]
fdt ag (RRa) @1 S, st @ &t nfafaa g
A g 3_ gfor & A R oft

IET ST GahdT -
(A) T @ sEda oI« (B) I
(C) Sraaat (D) ¥Haw (8]

12.

13.

14.

15.

16.

17.

18.

19.

21.

22.

gt gt uTiRa A%y 1 ¥9] g1 9ug=a 97

T %8 8-

(A) T | (B) Truw &

(C) wefiam & (D) aqarett & [A]
Choose the most appropriate technical
translation of the following word:

Circular

(A) Afew (B) uRu=

(C) (D) gfer= (B]
U gR A SEEt 1 &S @ af fae a=t e
F) 9T 85 FOIR g, d 570 R &-

(A) 0.085 (B)0.85

(C) 85 (D) 8.5 [D]
memiaTeR faag A & wah

(A) =13 @l T & fog
(B) a8 3¢ Site & fog
(C) @< dah e & fow
(D) ferTa 3né e wited & fow [D]
af® g FHe wrar # CREW &t 96 forar sirar @ awr
COURT &t 154 for@n sirar @, at It smar & CRATE

@t frg g foar sram
(A) 98 (B) 47
(C) 90 (D) 94 [*]

Rera vsdfie ffdes g1 wRa &1 gy 5@

Afsa afafls ardh A fRafaa frar smerm

(A) Tasr@ns (B) oI

(C) wAfea (D) a1 D]

AT dAled Qa1 G & remel gT e @t

FHdwTa 6 FATfa & gd frads ZR1 gerar o gar

g?

(A) T 53t gRI (B) TrsTaTa R

(C) Tryufd grr (D) faen= g1 gRY [c]

WRA Y TEET quIveft § YT’ & T 4T 8?2

(A) Svie W == & foig amafes fafae o)

(B) us et AR sidgh it sieht A¢ F e o I 9

e i & wgafa & IR FHS v I B

(C) a8 &' THT S1a U TIel AT BT &

(D) freft Rdue Uz w=f & f =ont & fiw sFTaiRe

Tof & Ry S w7y (8]

I U 9UTe | 3qe, WY § anJege ag«t /& gft

g 79 ¢, 9§ 9UTIeh ehgardl 8-

(A) Fraarss (B) o=

(C) e — (D) Teoqifag [A]

frafaf@a & @ 9 a1 Jow A9 Walfdh &

HoTfyH het’ FgaTdr @ ?

(A) wfdem datres (Afgaer GoTTER)

(B) SrgY ez

(C) oieh=ew

(D) FrESie™ (A]

AT & aidafa Iuspa =@ &1 F19 a1 wrd T@l

2?

(A) 758 & f adefE & & S & fag gaa

T & &g T ~eff Qa1 AT

(B) Irsrean= F Aot Sushnt &t feam-fRdar &)

(C) g9} Trdeifres &5 & ITHAY & Fal et AR &)

(D) I fafr= Iusrml hrarduvTelt g9y &A1
(c]
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23.

24.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

TS & UYH AlFrgh 4-

(A) 3. &Y. Rt (B) an¥.&h. gan

(C) &h.drg, &= D) &.qu. fag [B]
SITTE it gt feaa @2

(A) TR (B) Stk

(C) SR (D) 13z 3ng [D]

"B & A’ fela g-

(A) daTwiTe 3R FHareT & o
(B) Irqarst 3R HTTE F g
(C
(D

) Fraaret 3R FRER & fi=

) Rteneg ok uarmTe & & [A]
fA=faf@a srer oft § smren s1eR = 41 S
afge?r—
K.LJ, M,I, N,H, O, G, P,
(A) F (B)Q
()R (D)E [A]
T qHarg RSt &1 A% 25v3 aHt 2 @, aa 8@
uﬁm%
(A) 60 ot (B) 30 @t
(C) 50 o+t (D) 504 = 3 @t [B]
&Y TTae T I ANt | HNr A R
FA & a0 frar mam
(A) Avfifaw (B) fazfaa 1,
(C) Raf=u (D) wfera apa [c]

g uferm fad sEie saes &) urq sifgars &
e & fog arg Hrdfifda sufafa § ggar @ mf
foran gan 8, @ @-

(A) e (B) usf®

(C) srgea= (D) A= [D]
e ufveg & wewt o g fRarsar @ -

(1) ycaer g9 & (1) surege g1e &

(III) A &

(A) (1) 3R (111) (B) (1) iz (11)

(C (D 1I) 3= (111 (D]

) (1), (11) 3R (111)
RA=ifea q&ﬁﬁ&aﬁwmqe{mmﬁﬂ’f‘a%%q
ST 872

(A) TR (B) @MTE=
(C) emsT (D) &R
FH.oa.u. IR R . & ardwr
(A) 2-C e Ar1ggaA i Jufefa

(B) 2-C R 3ifefio &t 3rma
(C) 3-C R ATt Y Jufdfa

(D) 3-C R A13ZIA &1 AN [B]
P dda-adER T A q&fdd g ?

(A) ST (B) fer¥ctt

(C) mr R (D)mfrar [A]

samwagvrfai?ﬁram ?.lmmiﬁaqvﬁ‘zﬁaw
e war @?

(A) 10 (B)7

(€8 (D)9 (D]
AEE FTYEU g T @-

(A) =R (B) Bt

(C) ogem (D) @AT (c]
HEHTR dATTel 1 AGF P 82

(A) TSt Wg (B) Gftamer

(C) Snrsfiem wg (D) gzifRrg g [A]

37.

38.

39.

40.

41.

42.

45.

46.

47.

48.

49.

50.

fAafaf@a 7 @ g A9 9 verRe TR 9=

ufderor syt Aafomfs 82
(A) TR (B) @R
Q) o= (D) TR [D]

ATUIBRARF WA 43 FIUE IS A |
U £600 JuTar g1 ol 3°& g Rt M3 e
I 3 : 2 &, at B Hr af@d amg gl -

(A) 3,600 (B) 72,400
(C) 22,000 (D) 1,800 D]
At arar far|e af aeare! (gigaregn) & R 2,
I3 g iR am | f s=T ATEAT @2
(A) 3mad "raT (B) oTerest
(C) wgTeRreh (D) Pgr g=<& [D]
TR 91T &l WRAE T 1 a1 82
(A) Fyaett (B) sifedt
(C) srarem (D) ®um® [D]

1857 & farlg & @wRa fimsht aru & fF9 E«q
(am=) 3 RO & of?

(A) T8 I FE 8 (B) Fuifdis

(C) Situfdig (D) orsfiafds [c]
U afth €10 & 11 I HY R @ 99 @hear ¢ auT 3=
£ 11 & 10 95 i R Q FTaT 21 ITFH I ufderg F

T g?

(A) 21% (B) 9%

(C)10% (D) 1% [A]
TR & et d e e aseudig &2

(A) 13 (B)10

(A)n (D) 12 [c]
faefa seyorf arat & o2 & Fead &

(A) efcret (B) g

(C) 5f3 ursu (D) Rwmgms [D]

7-8 AW 2022 Ft fFE AW ¥ 'R ISRUH
afe @ smates. e

(A) &z (B) SitegR

(C) ik (D) SEgR [D]
fearea & fad aaffs =t = 2-

(A) T (B) wanreg

(C) R (D) 1 &g [B]

Choose the correct antonym of the following
word from the options given below:
Encourage

(A) persuade (B) aid

(C) discourage (D) incite [
YR AT § 'S13' & 99 | FH-91 A1 747 82
(A) mrera | w@rar

(B) TEforam=

(C) T<TehR aTcfent U H 1d

(D) Igd A= [c]
W5g A A & areget 1 47?

(A) &t at=t (B) TI. FoIE

(C) &. gt (D) woTd St [D]
afE log,; x = 1/6, 9@ x WaR &

(A) 27 (B) V3

(03 (D)9 (8]
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51.

52.

53.

54.

55.

56.

57.
58.
59.
60.
61.

62.
63.
64.

65.

Choose the correct option.

Tenders should be written in a language that
is -

(A) brief and to the point

(B) roundabout a lengthy

(C) informal

(D) stylish [(A]
16 @t g 12 I aensit o feft orga & aRka: o
g diar T @) g9 T A T 8?

(A) 192 T I+t 2 (B) 967 rt I+t 2

(C) 100 m @+t 2 (D) 152 @t 2 [c]
TorEuTH # qrA A S8 g faa @2

(A) SRR GIRISEIS)

(C) sRaR (D) Ar=Rr= (D]
A9w (Remainder) ITd F32 & faw Tw w8 gaad
A F G v I § 33 €2

(A) FACT() (B) DIV()

(C) MOD() (D) INT() [c]

A= & @ 9 a1 o= & siariafta AR 22

(A) 23° 30" &faYyor wa 30° 12" &fayor

(B) 23°03' 39X U4 30° 12' IR

(C) 23°03"' ITR TF 30° 12" &iegyor

(D) 23° 30' I¥< Ud 30° 21' I (8]
16 ITFR, 2022 Ht &g WA M MEea F 3K
afimre smdsaR fAfY fRAyfaarag it sparfrar waf
r?

(A) frerre & (B) 3rerae &

(C) Stz A (D) smre & (D]
"qEYaTash S99 @

(A) @i (B) forgant

(C)gr (D) [A]
TSTEYT I A aSTT o ITfAe W g -

(A) #faes aRaRhraefeat a afgend

(B) W13 Groqqa

(C) ey fardwar

(D) mfgen amurd (A]
;gf: & frearcia siffef@s @« i Asarh 9
(A) R (B) rerat

(C) IRw (D) HTeen? [c]
frafaf@a § @ 19 @1 vRT &1y RS &7 g™
fArfRa3rre 82

(A digage- St (B) dtewgadi- gaege

(C) ferenia - @ (D) faspm - & (D]
fafday Rz TfFA waare -

(A) Li, C 3R CO; (B) Li,0 3R CO,

(C) Lio 3R CO, (D) Li ¥R CO, [B]

‘HQIEREF' U & AT g @efe aragiar @

(A) et & gt (B)&R @ RR T

(C) 7eden gorm arent (D) gfureR | 7€ g1 arenn [B]
TGS ITRIITR 0........ A

(A) wadrg (B) @ufrfara

(C) iy} (D) Sfrarfoaen (B]
"HIEY e’ AR A1t uae' R wae Y e 2
(A) == (B) avrT

(C) s@Rr (D) wamt [D]

Translate the following sentence into Hindi:

66.

67.

68.

69.

70.

71.

78

73.

74.

75.

76.

77.

Women learn English faster than men.

(A) goui ! Afgeat @ uget sidoft St TRyl

(B) oW 3Rl @ Tt St Wi €1

(C) 3MRd gout @ SureT Aeat 3ish Padt

(D) 3RAT it gewl & gahTae west st Fa- a1feg|
[C]

SFFH) B IR Jiegd (I99) R Ao H R (K)

Hgrdl 8-

(A) e @ (B) diE %

(C)f¥e e (D) ¥ % [c]
ew ZRT 9the ganier & Rfgor F ger @1 9 ar
a1 JfYaan faafaa gar @2

(A) aret (B) &t

(C) e (D) g [B]
Rmifera & @ a9 @ arag g sreik § g St
g')

(i) 7= (ii) T2

(iii) vEreTEe (iv) ITTee

(A) (i) a (iv) (B) (i) & (ii)

(C) (ii) = (iii) (D) (iii) 7 (iv) [c]
Rama grr 3@ 3R =gamm@ d@dtg, wt gty
TR | TS GHY FgATdT e:

(A) wrafdm g (cycle) (B) 3ar&fre

(C) a<iier &8 (D) geRdw a13m [D]

iR Aw-gfo2ar 2022 nfagifiar 4 AsfafR@a 4 @

9 & afaanfi TR ATIE T

(A) SgeTIeTEd (B) &fAam &g

(C) oy @3 (D) R 1 [A]
st eISEE .. g?

(A) arer (B) :rg

(C) @iarard (D) ggzar [D]
Rrafds o & gamiR Al g et mit
FHEHAA TR g AT @-

VY EEAGE (B) yraR

(C) arrg (D) wiTR [B]

Choose the correct alternative which can be
substituted for the given sentence:

T e p riod of life in which a person is old and
weak

(A) Superannuation  (B) Dotage

(C) Impecility (D) Senility [B]
iU AW @rat 21 are F forar 2-

(A) Areng fohan (B) 3ramfes fopam

(C) gt foran (D) gdaifaras foran [c]

TS # aR-AR HFTe Qd G@ ah1 71 HROT 82

(A) sfrafira auf

(B) gt & erd

(C) Sic a1 ifadepyof Sugtm

(D) 9 &1 Fera [A]
7AW & diafa gAaw......RAt @ AR we= v
SATT 82

(A) 150 (B) 100

(C)120 (D) 130 [B]
wRa & &9 aog 7 684t Agw oIfY It (Araw) ¥
mgifaa Y g of?
(A s maar

(C) A==

(B) afae=rg
(D) wdfes [C]
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78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

Choose the correct preposition.

He took ages....... the job.

(A) of (B) over

(C) above (D) beneath [B]
|rd, 2022 # anft snfRegy & AR R FdFE
a;ﬁfqmw&aré;g@mﬁ%mﬂam

(A)304d (B)314d

(C)33d (D)29 3 [c]
ISrer &Y ' micft argd) v TRA e =
TN e fahar mar?

(A) 18 FawR, 2022 &t

(B) 15 3714, 2022 =

(C) 9 Ra=r, 2022 &t

(D) 8 qaw=R, 2022 & [c]
Ao IaT........... a4 feaag?

(A) g8 (B) STere

(C) hieieptan (D) a=% [D]

wraeruftater o aoat Y dgaa afatsr @, 2 &
(A) ISR T Ul (B) T IR
(C)ISRUA SR us@ (D) Ao SR [owd  [A]
Freit A & T8 & g 9 a1 sy ulRg 82

(A) Ricdlerg (B) siagR

(C) srwarer (D) warg RratgR (D]
1dtg fAarier o 7 Fa = g7 8-

8T u = TFIfvF I @ fama A 3@

v = HHIfdF &z @ ufafama £ g8

f = 1 &z @ i gt

(A)f=v+u (B) L_1,!
fou v

(@r_1.1t (D) r_1,1 (D]
S ou v VAR’

d@faus & 9 gz & q9gq Avaur Ru= suea
2R TRa e Rdas @ asufy & @igl 2
TWIRT @ gFa1 @2

A) 39=3% 200 (B) g% 256

(C) o< 257 (D) arg=3% 213 [A]
RE RaEr affedln Rawar & &Fa O @
wafaa g?

(A) sreraR (B) Aarg

(C) arRaTg (D) &R (8]
VLOOKUP eraiH & &heat 872

(A) T fre e atet ReprE gaar &

(B) e ord R gz &

(C) 78 w2 gear 8 fSd V' &

(D) gt AcH Tt UHgH FHFAT & forg 2T 8 (8]
WRA & gyn v Hiw [hw w@d (CDS) F4a
RftT a9 & wulur=a Fa T @ gEnfaq
favay mar?
(A) Ta1 fasgEor
(C) gz sqmor

(B) uzdR Tsh
(D) 3rMek T [A]

89.

90.

91.

92
93
924,

95.

96.

97.

98.

99.

100.

oye & FaEn Arfaat & i oo RAfga awa=y @)
T T F YR W dE IeaR HTpfd &1 994
o ?

Pioblem Figures / ‘H‘I‘Fﬂ M@ﬁfiﬁ

(@G - |

(M  an (I1D)-
Answer Figures / 39%: snFfaar

Frs T --
N T
o/ \e

Ctrl + Y @1 wah f&xqn Siar 82

(A) sf=w forar gdaq & & forg

(B) IS YTz A & forg

(C) Ueh Z&aTAS ahl §€ e & oI

(D) sifom foran &t Rdie an &g &7 & g [D]
fA=ifRa 7 @ fF I Toaa (o1e) & yafara
foray ST 82

A)

>

©) @) |

[c]

(A) 3RS (B) Af

(C) uftum (D) «Hf¥gTT [D]
FTFMEEATFR WA grar giar @?

(A) AB* (B)Or

(C) O* (D) AB (8]
e g?

(A) FTET T gRATEIRSG (B) FTET T IRET

(C) FET T aHEadr — (D) &1 &1 a9eyTia  [B]
g7 30 fAeney @ ofYw 6 ok 5 ot g 81 a9
g ardi iR gEaw 4 Al oot @1 g: @@ @i ik

e 5 o agdl 81 @ Rar g snEd 82

(A) afgm (B) Ieae

(C) zfayor (D) & (D]
Rh e T oA g st & ..o &
ade ?

(A) fRrmarsea (B) & 3R &1

(C) oret SR T (D) feramy [c]
féha 21ez # *ygarEs’ F1 8?2

(A) R=ar (B)ma

(C) g¥cft (D) Farera (A]
RAfafl@a el § @ fFa aw 3RAm =
fTarseea® 2aer aats 2022 | Aaren Tqr?

(A) ToreEafR (B) siamg

(C) gamgd (D) grucTe (D]

(B) Rt - 'c:ﬂurarrﬁ

(C) AMEYRT - THAROISA

(D) @t - IwERISH (A]
1 #rer &1 fxaarufasE 200 @A+ 82

(A) 200% (B) 0.2%

(C) 2% (D) 20% [D]
FIFET AeE Y &?

(A) aierd (B) Qarad

(C) ¥ (D) & [D]



| CET 12t Level (2nd Shift) Answer Key Dated : 04.02.2023

101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

11.

A= Tt snafa a= @ wifelda urais 82

No. of Siudents

fraffat & wem

10 20 30 40 50 60
Marks / arat®s —-

(A) 60 (B) 25

(C) 35 (D) 45 [*]
frw wgg # w) e e i @2

(A) RfER - uemrar (B) §e - Af<h

(C) ke - @maa (D) anfe; - sy (D]
SUBORDINATE a1 fg=&} utRanfer areg 22

(A) TETTS (B) afrss oft

(C) arefiAey (D) fadfta [c]

FAYe & angeqe # uRadA frad g glar 82

(A) 37qe - IrSTge 3ag (B) ARdwa

(C) g dr.us. (D) dt.dtg, (D]
150 . FHN 9z & i | G A9t =1 SrEFER FW
60° uT 30° @1 ATat & wen gf T ¢ AR AF WP &
fRrada fean & &2

(A) 200 . (B) s0v33h.

(C) 10nV37M. (D) 2003 #1. (c]
TRYH & fFa ARFa afdw & AfaRew wos
RsiFAT dey Y Turgar H sgfi?

(A) St.T.T7. AfSHA T, Ao R

(B) TH.tA. Af*ad ahictd, Sty

(C) T9.7A.79. Afad @fdel TaR

(D) R.3. o= gifea, @l (A]
afe v A | 3t ofiwt @ auga yonaf @ s
o g &, at Ry 82

(A) Romarg (B) IFator

(C) Ha1g (D) wnfgarg ()
Rea =1 999 F=T g g g ... LR
feaa g?

(A) sTRTg (B) 7

(C) Ry (D) merad (A]

U 4 : 5 & Ul ug H et dear wid g
aifds O HUTd 5 : 6 & TR g ATT?

(A) 4 (B)1

(€)2 (D)3 (8]
Go throught the following poem and answer
the question given below.

O Rose thou art sick,

The invisible worm,

That flies in the night

In the howling storm:

Has found out thy bed

Of crimson joy:

And his dark secret love

Does thy life destroy.

What does the worm symbolize here?

(A) Death and decay (B) Secret love

(C) Life and beauty (D) Howling storm [A)
arftor - A arf¥azor (F21) &1 aan &id 82
(A) et & farsTent-Iuetsts 1

(B) ¥ a1 e

112.

113.

114.

115.

116.

117.

118.

119.

120.

12 .

122.

123.

124.

(C) M-mpf &= a1 fapre

(D) favaar Tremait &1 A [c]

= & & =¥ utarals= o 7 &2

(A) sn3eaTga (B) TTES 2t =

(C) wge g (D) TSt=ee &g, (A]

Qe I3TER01 8-

(A) Fa¥T7 srffdar a1

(B) fema= sifaferar ar

(C) f&-farargs srfaferar wr

(D) foratsra arfafhar &t €]

J772641 T AH &-

(A) 889 (B) 879

(C) 871 (D) 891 (8]

AqTS UATATEA ) TUTGT fFadhy srenerar o 1938 &
?

(A) saeq &g dgar (B) 7z mi

(C) agzde are? (D) SIHATATA ISITST [A]

Paddammamam=a?

(A) @t (B) 2%

(C)ged (D) s [B]

Rafafla § @ A-Raeg @ S9fQa sjfaear 8?

(A) & ma Tsft (B) dR gored

(C) eifenar (D) HgTRA (A]
Fill in the blank with the correct option.

The teacher taught us that the earth .............
round.

(A) are (B)is

(C) were (D) was (B]
& & ford weme=rt . reArd oiaroy @4 &2
(AR (B) uM wAE®

(C) U™ FoncAE (D) 7w Jgrfi= [c]
I & # Seedig et | e
|y &Y = Tt @2

(A)12 (B)6

()8 (D) 10 (€]
o-fEAR JuTE o 8?7

(A)thréaﬁmmu?ﬁ%fzsﬁ

(B) foreft o+t Famé

(OFRRITE®R

(D) gl IR foreft F7€ [c]

Any ki-d of letter generally ends with:
(A) Heading (B) Salutation
(C) Signature (D) Subscription ]

3{TS. U, UG, TS, (wwmsmzfaﬂu
fhen aaRYE)—2022 & R ad &1 wywrd fhew

afehca aifea frar mar?
WEEISEISER (B) g1 st
(C) fersheR (D) wgq sish [c]

Choose the correct indirect form of the given
sentence from the options given below:

She said "We were thinking of selling the
house but we have decide not to”*

(A) She said that they think of selling the house
but had decided not to.

(B) She said that they have been thinking of
selling the house but had decided not to.

(C) She said that they had been thinking of
selling the house but had decided not to.

(D) She said that they thought of selling the
house but decided not to. [c]
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125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

T Ietg ot F, Icurgahar ot i RS ...
&?

(A) g21 (B) wanm1

(C) 5= (D) ag (B]
ZraA, aren & frg ym @ org gt @2

(A) B (B) 51

(C) & (D) gecht [c]
gfdeR S ........... F M FAT ® S\ Ty
sRe=gRIoT e Faegnren H == ghh?

(A) afe=zurat 7om (B) TR

(C) g D) fafgr = [B]
Fs* Amaa= & ST 87

(A) daamivfa (B) Br=ivfig fZfad s

(C) arf ¥fAdia (D) rcwmaAST [c]

................ U 1 &t el A @en & agag A
1 o uftp @, g g 39 &1d + F fag
I H4)?

(A) AT (@) (B) Ry ez

(C) faew fasdwo (vAifafd«)

(D) & (D]
U o= AfY Al aarer @ 15 asi F N g St 4
R awi & ag ans 10 & srafi?

(A) 75 (B) 30

(C) 45 (D) 60 [c]

Choose the correct option for the passive
construction.

Everyone calls him a peacemaker.

(A) Everyone is called a peacemaker by him.

(B) A peacemaker he is called.

(C) He is called to be everyone's pea emaker

(D) Heis called a peacemake D]
qram;mm

(A) 24 7(3) 19

(C) 20 I 1] (o) 22 (A]
forE fdrt & m R WfAq =afe Re arfeenr
a9 IR Gha1 8?

(A) S=a =T a1 IsIaE TG

(B) &haet I=a =agia |

(C) Fas Qe =maraa &

(D) et Ieaaw g d [A]
n & fFa A= & fog (x+a), (x"+a") @1 & qUAEDS
gm?

(A) n & Fa= foww A= & g

(B) n & ot 7t & forg

(C) n & Fae sy o & fag

(D) n & 3aw g9 ol & fag [A]
fora srez & EaTa-Haddt afE @2

(A) SR (B) RT3

(C) Terarfoy (D) aifirrs [D]
fP=ifda & @ F=a aRE doreur i TEarg &
Ruffa & & fag Icarerf 38t &2

(A) auf w1 EwE fdaRor (B) Arg9=

) F g a gl (D) yafera e (A]

137.

138.

139.

140

141.

142,

143.

144,

145.

146.

147.

148.

149.

150.

Fill in the blank with appropriate determiner
from the options given below:

................ Pen will do.
(A) Enough (B) Many
(C) Any (D) Much [c]
afy cosé’:ﬁ?ﬁ tan =7
b

(A) b (B) Vo -d?

It —g? a
() V&' -’ (D) (8]

b \/h2 —-a*

WRA & raRRer & s=RFrar fR] Jr=r S 82

(A) Sf. dar= ATgast (B) . g SIgffiR amar
([C)3T [BELEICU | (D) . ThF. 3egd @A
cl

gargdt I dEwrei & fag zete Rafaa & g &

oft?
(A) arfean sreft afafa (B) &. gyrm f{mfy
(C) 32iten Agar gfafa (D) Sh.fr&d waafdfa [*]

T ufks & dur ardft ik @ snadf & aur sm= it ik
3 Gradi g1 & & 3mga & g TR uRafda ar o @
at o= it R @ Rl g T @1 a9 AFT T TATH

ard 3R A & ghm?

(A) 134t (B) 10 &t

Q)14 (D)12 & [D]
fRrerTe it torg 918 fha Jea @ Gdfda @2

(A) =& (B) ¥t 7

(C) dwgareh (D) wreafeian [A]
gfAfeR ez & e a9 @2

A) & (B) e

(C) mgshifR (D) sregdfivma [c]

[TAUA ZRT Avg & g ofeg & e s
wArfa frd o 82

(A) Tl Y o G o 1/4

(B) @zl Y T GEGT AT 1/6

(C) et N Fa dE@r w1 3

(D) we=at & et T &1 1/2 (B]
Aot ATeRed 1 g 82
(A) XOR (B) >
(C.+ (D) if (A]

aRFWH @@ af § fraf gaan & sfrard 82

(A)5 (B)2

()3 (D)4 (8]

T 14 ¥ &1 Rardi wamw gea wr fod gr oAt #t 5

W, & g | 91w T8 gz urar 81 Ranff e Aa v @

ﬁ%@gﬁqzaﬂﬁ%ﬁqmﬁamm
?

(A) R 3R 3y, Icaa g (B) Rexe 3R Ay, sraaa dg
(C) Frere 3R 2w, Iedw a9 (D) R 3fR &lW, Srada a9 [B]
qftgd & a9g Uy G HY S gEe FA gren
HETET @2

(A) BUR R G F g

(B) @& o1 Iegy 1T

(C) 3mT a7 U 3if @WreAr

(D) AR & arg R GgRAT [c]
Jorey= & fra O A ga< 3w Y &) fega @2

(A) sAR (B) SR

(C) amTR (D) =ter (B]
AT AT, 1 Al EfY-fa=se 82

(A) 1 + T§oy (B) 37 + guOT

(C) 3/ + Quor (D) 377 + Tyor (D]





